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Name Date

1. Fillin the blanks using your knowledge of place value units and basic facts.

a. 23x20 b. 230x20

Think: 23 ones x 2 tens = L“'lo tens Think: 23 tens x 2 tens = I:I (o ‘hg‘gg\{ﬁds
23x20=_HbO 230x20=_4600

c. 41x4 d. 410x400
41 onesx4ones=164 _( )]}Q_S 41 tens x 4 hundreds = 164 H}Q\Lﬁm’\éb
a1xa=_|4 410x400= | LY 00O

e. 3,310x 300 f. 500 x 600
33| tensx D hundreds = 993 ] nﬂs 5 hundreds x b hundreds = 30 _{fﬂ;”]ﬁmsams
3310x300=_493 ) 500 x 600 = 200, 000

2. Determine if these equations are true or false. Defend your answer using your knowledge of place value
and the commutative, associative, and/or distributive properties.
a. b6tens=2tensx3tens

False , because 24ens % 3 Yens = Ghundveds o6 6OO. 0% 30=600

b. 44x20x10=440x2 | N
False  because these areny ecbu.a] , T con rewnte Uy «10= 440
and AWUDr20 FE 440 r L,

c. 86o0nesx 90 hundreds = 86 ones x 900 tens

Trle , because GO hondceds 1S QPUKOJ 4o QOO Yens
whaeh s e%uo\\ Yo he valve ok 9,000
d. 64x8x100=640x8x 10
Troe . T oon rewnYe the provlem Yo e Libt x\O0 =

G« IOV 10, (4 x 100 s é’%ua\ 4o 40 X i0.

>
t]

,.

Lesson 1: Multiply multi-digit whole numbers and multiples of 10 using place
ggﬁMON ‘ value patterns and the distributive and associative properties. engage ny _Z.
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e. 57x2x10x10x10=570x2x 10
False. I con rewnte the ngny side od Yhe e(bm)k\exf\
yo Yo 5742 %x1.600 . 5T 22 %x1,000:# 68702 2 %10

3. Find the products. Show your thinking. The first row gives some ideas for showing your thinking.

a. 7x9 7 %90 70x90 70 x 900
=63 =63x10 = (7 x10) x (9 x 10) =(7x9) x (10 x 100)
=630 =(7x9)x 100 =63,000
= 6,300
b. 45x3 45 x 30 450 x 30 450 x 300
=135 = 35210 = (45x0)x(3x18) =(US5=x3) «(i0o x100)
= 1,250 = (USAPYx100 = 135,000
= 13,500
c. 40x5 40 x50 40 x 500 ‘ 400 x 5,000 ) \
= 200 = 20 00 =(4ae)x(5al) =(448) « (ite » 1,000
= 2,000 =(4x5) *1,000 = 2D % 100, 060
=20, 000 = 2,600,000
d. 718x2 7,180 x 20 7,180 x 200 71,800 x 2,000 . )
: o o =(719%2) x (100 % 1,000
=43k S 036 A0 = (M3 A x(zaie) (T8 ) x (1004
21423600 = (13 x2)xlioxjet) =1,436 L 100, 600
|
= 1426 Y \000 = \43, (LOC,000
= ,U3(, 000
COMMON | = i o €ngage™’  zau
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4. Ripley told his mom that multiplying whole numbers by multiples of 10 was easy because you just count
zeros in the factors and put them in the product. He used these two examples to explain his strategy.

7,000 x 600 = 4,200,000 800 x 700 = 560,000
(3 zeros) (2 zeros) (5 zeros) (2 zeros) (2 zeros) (4 zeros)

a. Ripley’s mom said his strategy will not always work. Why not? Give an example. _
Ths seate S wont alwoys work beconse 1+ depends
ON Yhe éc\t)rc(f) ymﬁfe YY\\,‘&\.-\‘\.P\ yng . Fve exomple
HQO x 9O = 200,000 . TY doesnt work s
(9\'1 ems) (o’l Zew) KS zeros ) ‘ ‘
edample beeause 4 xS =20 Thoks way the product hos S zeros .

5. The Canadian side of Niagara Falls has a flow rate of 600,000 gallons per second. How many gallons of
water flow over the falls in 1 minute?

| ok = 600,000 gallsns
©0 vYS= KOO, DOO % O = 3k, 000,000 gallons

2L, 000, 000 30&“&«\5’0&( waker will Fow over
e Lolls in | manude

6. Tickets to a baseball game are $20 for an adult and $15 for a student. A school buys tickets for 45 adults
and 600 students. How much,n;wney will the school spend for the tickets?

A }ZO -t ﬁquO
00 519,000

$20 |20 [#20| -+ |20

C\(\u.\)ri \ 2. 2 i 65 as

| e
5*&&9{\*’- \ o T EOD} C{\O[ 00

| fW\e. schoo) wi) :spm_\d\ sxC]',Ci‘OO Qm' -;\-‘\le)fs.

COMMON Lesson 1: Multiply multi-digit whole numbers and multiples of 10 using place ny
co“— value patterns and the distributive and associative properties. eng ag e 2.A.11
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Name Date

1. Round the factors to estimate the products.
s97x52x__ (0 QO x 50 -_30. 000
Areasonable estimate for 597 x52is_ 20, QOO0 .
1103x59=_ 1,000 «x__ @O -_ (00,000
A reasonable estimate for 1,103 x 59 is (0 O y 0 OO s
5800x25=__(n, 000 AS -_150, 000

A reasonable estimate for 5,840 x 25 is \ 5 0 . O O(_)

2. Complete the table using your understanding of place value and knowledge of rounding to estimate the
product.
Expressions Rounded Factors Estimate
2,809 x 42 3,000 x 40 120,000
28,090 x 420 30,000 A 400 \4,000,00C
8,932 x 59 q. 000 X (0®© 540, 000
89 tens x 63 tens Qo0 X LoO Sqoj 000
398 hundreds x 52 tens 40,000 % 500 20,000, 000
L 2: Estimat Iti-digit products by rounding factors to a basic fact and
COMMON | tson -ttt “ engage™
Date: 7/29/14
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| NYS COMMON CORE MATHEMATICS CURRICULUM  Lesson 2 Problem Set m

3. For which of the following expressions would 200,000 be a reasonable estimate? Explain how you know.

2,146 x 12 21,467 x 121 2,146 x 121 21,477 x 1,217
=2,000% 'O =200004 100 / =2,000 % 100 = 20,006 A 1,00O
= 20,000 22,008, 000 \ = 200,000 = A0, 000, 600

4. Fill in the missing factors to find the given estimated product.

a. 571x43=~___[p OO x 40 = 24,000
b, 726x674= 100 x 100 = 490,000
c. 8379x541=_%.000 x__ 500 = 4,000,000

5. There are 19,763 tickets available for a New York Knicks home game. [f there are 41 home gamesin a
season, about how many tickets are available for all the Knicks’ home games?

\aT3 4\ =~ 20,000 x40

20 O00 XYY = ¥ 0D, 000

There. wece about 200,006 Tckeys available @ al

Nick-9' home goames.
6. Mlchaemes 34% dollars a month for college. 8

a. About how much money will he have saved after 4 years?

4 X (2 monins = 8% monns
dur3 «1g & ¥4oD x 50 f4o0 L %0 = $ 20, 000

e wewd hove saved about ‘Yél(} o0 aftec Y eors .

b. Will your estimate be lower or higher than the actual amount Michael will save? How do you know?

T Yo m cshimale Was \ower hon the actwol
CLW\BW’\ p/\\d’\ct&l\ xu;\\ SCNC_ beccmsc,, \ (ande
Ju23 4o 400, but T Ad round 4B w50, T
ol m eS‘\‘m\a\f_ o& $20,000 15 reo\\\j c\ose Yo
e ae (,.,\ amon nt.. .

Lesson 2: Estimate multi-digit products by rounding factors to a basic fact and
COM.MON using place value patterns. engage ny 2.A.25
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Lesson 3 Problem Set (X7

1. Draw a model. Then, write the numerical expressions.

a. Thesum of 8 and 7, doubled b. 4 timesthe sum of 14 and 26
i
| |
2+ SRR
(g+7) 22 an (1a+20)
c. 3times the difference between 37.5 and 24.5 | d. The sum of 3 sixteens and 2 nines
| | Jolie o] E
375245 |
2% (37.5-24.3)
e. The difference between 4 twenty-fivesand3 | f. Triple the sum of 33 and 27
twenty-fives
l 25 I 25|25 |25
’ ’ I 33 4217
, Bl
’z ) .
- ' 3x (33 +27)
(4 na5)- (?) A25)

COMMON Lesson 3: Write and interpret numerical expressions and compare expressions ny
co“.. using a visual model. engage
Date: 8/3/14
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2. Write the numerical expressions in words. Then, solve.

~ Lesson 3 Problem Set [EI7])

Expression Words The Value of the
Expression
. 12 x(5+25) g 5 gt .
1Z fmes He sum pb Sand 25 360
b. (62-12)x11 ik ) )
\+Hmes -M&ﬁer&nm be-)nkl eEN &40
(b2 ond \"2
45+ 55) x 23 . v
= 23 Himes hesumst dSand S5 | Q. 200
d. (30x2)+(8x2)
Ye som of 20 dwos and §4wos Hil

3. Compare the two expressions using >,

how you can compare without calculating. Draw a model if it helps you.

<, or=. Inthe space beneath each pair of expressions, explain

d.

24 % (20 +5) @

\
"_\,—:\'5 re_oc\(e_{' nen vd

o fZD'l’S) buy Ay

(20+5) x 12

coamse the ledd side shuws R4
. (ahd s1de only has 12 groups afb (z0+5).

24 grougs

b.

18 x 27 @

THs \ess thon e dowse.

and We Agnt gde

20 twenty-sevens minus 1 twenty-seven

he \edy a\ae.. shows % »\me_i\\y seven S
shows \9q *\‘uuu\\—*-\ Sevens .

C.

4

19% 9 @
|l ] l‘l'I‘q
e —

I

(g

\ARG

3 nineteens, tripled

e

al laals| [a

19

a

1a xq

I —
. '}\u e. bean 4 400UP oSr \9.

COMMON Lesson 3: Write and interpret numerical expressions and compare expressions
b using a visual model.
Date: 8/3/14
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NYS COMMON CORE MATHEMATICS CURRICULUM ~ Lesson 3 Problem Set m

4, Mr. Huynh wrote the sum of 7 fifteens and 38 fifteens on the board.

Draw a model,-and write the correct expression. - k
i g 542 4t : (7x15) +(3% x15)
[islw] <0 [1S]
i
[i8]is | o0 5 1 (-
2 eens

5. Two students wrote the following numerical expressions.
Angeline: (7 +15) x (38 + 15)
Meiling: 15 x (7 + 38)

Are the students expressions equivalent to your answer in Problem 4? Explain your answer.
ed\)

W\e\\_\n£5 answel 1S c%w\io\\en-\- She Scmnd e sum (adc,\

ok the A bars -\'ﬁ eMmer. Dm \mes onswec i NoY
Qgyu walent  She mu\\ Yiplied valves ok the Ywo bars.

6. A box contains 24 oranges. Mr. Lee ordered 8 boxes for his store and 12 boxes for his restaurant.
a. Write an expression to show how to find the total number of oranges ordered.

($x24) +(zx29)  oc a4 ($r1z) oc  AaUxZo

b. Next week, Mr. Lee will double the number of boxes he orders. Write a new expression to represent
the number of oranges in next week’s order.

(@ x'zt{)ir@, xzq)j x2 of (24x20)x2

c. Evaluate your expression from Part (b) to find the total number of oranges ordered in both weeks.

\Bedk. § §+ (24 s20) = 4EO U4%0

- 3) % - 4 0
Week 2. @4 x20) xZ = 960 i, 440

Tn Doy weeks Wir. Lee ordered ), 440 oranges.

Lesson 3: Write and interpret numerical expressions and compare expressions
COMMON ‘ using a visual model. engage ny 2.B.12
Date: 8/3/14
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Name Date

1L

® 2014 Common Core, Inc. Some rights reserved, commoncore.org

Circle each expression that is not equivalent to the expression in bold.

a. 16x29
29 sixteens 16 x(30-1) ( (15-1)x29 ) (10 x 29) - (6 x 29))
b. 38x45
( (38+40)%(38+5) 2 (38 x40) + (38 x5) 45 x (40 + 2) 45 thirty-eights
c. 74x59

74 % (50 +9) 74 x (60-1) ( (74 x Sm; 59 seventy-fours

2. Solve using mental math. Draw a tape diagram and fill in the blanks to show your thinking. The first one
is partially done for you.
a. 19x25= \ E‘ twenty-fives b. 24x11= l | twenty-fours
4w erﬂ-:@urs
> ozl -—--—__-—-_‘__‘-‘--“\-;
25 25 25 25 l ;ZL', 1 9}{ :;U—{ o 9 @ O)\L*
1 2 F e 19 20 ' i)
(O *\Dm\'j '"YOLU:') !-"twen’ry % 'YGW.'_
Think: 20 twenty-fives — 1 twenty-five. Think: i'D twenty fours + | twenty four
(A0 x5y | x 25) (D xa+(_| x 24)
« 300 - 245 - 24D .+ 24
=_415 - 24
COM MON Lesson 4: Convlert_ r]umeriFa! ex[:aressions into unit form as a mental strategy for ny
- multi-digit multiplication. 2.B.23
CORE Date: 7/29/14 engage
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c. 79x14= —I q fourteens

d 21x75= t;”\ seventy-fives

Think: gQ fourteens — 1 fourteen
= z 0 x 14) —( \ x 14)
-1,120 -_ 4

-1 \Db

Think: O seventy-fives + I seventy-five

=(_&X75)+L__l_.__x75)
-1,500 +_15
=1 515

3. Define the unit in word form and complete the sequence of problems as was done in the lesson.

a. 19x15=19 -£ g'\'ge.ns

20 fifVeens

b. 14x15=14 -gt i}eg NS

T e .

i5]is|is| -~ |i5

\c{ S;LQ'\‘ECY\S
Think: 20 ¥\9&’€€ﬂ"> =], ~$\$‘\'€(’.Y\

=@ix._ IS =ax 1S 3
200 - 15

AR5

s iS[lS 8§ ©¢9 5[15[5 }5!

N4 &
Think: 10 ?1ﬂeen:'> +4 ‘E.S'l‘em

—aox_ 15 yepx S )
\ 50 + (O
A\

COMMON Lesson 4:
CORE

Date: 7/29/14
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Convert numerical expressions into unit form as a mental strategy for
multi-digit multiplication.
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4N feee | i 75|95 |15 | - |75
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19 fourteens A0 seventy- £ives  Lsaen t)- ke
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 NYS COMMON CORE MATHEMATICS CURRICULUM  Lesson 4 Problem Set [EIF3)

c. 25x12=12 i Ef\\' "¥Nf’_5 d. 18x17=18 ﬁC‘ﬁﬁﬂ')‘_’C&I\S

h ____Ro0seventeens
(_.-a-—-—-—._.h,_./\___—-—-—"'—‘—"-—-\\
AS |A5 |25 a5 AS | AS (T0T{IT A i1 :

\-..‘______.--'-'

$ __ L (] seventeens
Think: 10 {W VB2 :ljp!eg'};\r) '%\}&S Think: 20 ﬁﬁwfefns—z sc\ﬁen}cms

=(10x_QS5  )+ex_35 ) ox_ 11 y-@px_ L1 )
. 2808 . S0 3D - 34
= ADO 306

4., How can 14 x 50 help you find 14 x 49?7

Once. T HHind SO -S\—O\!r-\eej\S, T con subtrock L
fourteen and W will e me 4] Tourteens.

5. Solve mentally.
a. 101x15=_\5\5 | b. 18x99=_| 182
=(oox 15+ (11 15) = (100 x18) - (] x18)
6. Saleem says 45 x 32 is the same as (45 x 3) + (45 x 2). Explain Saleem’s error using words, numbers,
and/or pictures. 45 x 32~ 45’ .\hd . *"".’*‘*5
o it s : ; Usx 3)-# ('—\S M-) ai-IS-‘fwe
i 72 3)_ 2. B ¥ A2 6 < S 2 De ( y . ' ;
] J J\__’/__\/__\_JiJQS-H'M l'y Awos % 458 ve

us irh\r-\y Awes 45 fives
They ate net 4he same. vecause 4S vy Funs does net egual 45 Twes.

7. Juan delivers 174 newspapers every day. Edward delivers 126 more newspapers each day than Juan.
a. Write an expression to show how many newspapers Edward will deliver in 29 days.

(74 +\26) %29

b. Use mental math to solve. Show your thinking.

i "Q\ffz\' added VY ond \ 26 364‘ 200. Then X mV\\-)nﬂ\e'd' 200

Ames 29 4o ger £700 py Hinding rky 300% and +hen
sub-%rmc,hng ONg 3(9@ .

Lesson 4: Convert numerical expressions into unit form as a mental strategy for
Egk‘EMON mult-digit muléplicaton, engageny 2.8.25
Date: 7/29/14

® 2014 Commeon Core, Inc. Some rights reserved. commoncore.org




| N\.'s«‘ch’f\ﬂpﬁ_f’dﬁﬁijﬁhﬁﬂ'ﬁjm‘-‘gﬂr;‘s"xi:uk'mcuwm R P P BT L'_‘esgoﬁ"s.prob]'e’_mis'ét 4 m

Name Date

1. Draw an area model, and then solve using the standard algorithm. Use arrows to match the partial
products from the area model to the partial products of the algorithm.

a. 3ax21= 114 54

| XS X721

20 | ©%0 > + 30

b. 434x21= CH\H L\BL_\
L | 43y 434

\ B

H3Y
24 % 6%
—q, nd

20 | B,0680

2. Solve using the standard algorithm.

a. 431x12= D 1\T2L b. 123x23= ng c. 312x32= ‘1548’-}
4>\ 123 S1L

X 1z A L3 * 3L

1 pa 30,9 (b4

s B0, 2, 460 4360

= J - s

o 2,829 B B &
SOMMON |t e tssmmmnor oo engage™  zes
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3. Betty saves $161 a month. She saves $141 less each month than Jack. How much will Jack save in 2

years? $ (41 \ UT\A‘ =93DZ, ‘\‘
Beby [ §lo T gy umbs 5 302x247 T 348

Taekx l 7 =%36) l
§ 1o+ %141 = ¥302

Tack will sove #7208 in 2 years

4. Farmer Brown feeds 12.1 kilograms of alfalfa to each of his 2 horses daily. How many kilograms of alfalfa
will all his horses have eaten after 21 days? Draw an area model to solve.

(2.0 + V2.\ = 24.2Kg

. L i
| ot - 4.2 kg _A4.Z _
. 2 1
oy onds = a2 x2) | SHE —

1 [ﬂ A L
- 50%.2Kq % + 440

_—_‘5_0 %. 2

Q(\\ t}Sr '\\l\s \\.0{'5@5 u).\\\ Nowe e.a'xen So%slkg
2% alfafor afle a1 doys.

Lesson 5: Connect visual models and the distributive property to partial n
cglbl‘E'MON products of the standard algorithm without renaming. eng ag e y 2.B.38
Date: 8/3/14
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Name

Lesson 6 Problem set. [E%)

Date

1. Draw an area model. Then, solve using the standard algorithm. Use arrows to match the partial products
from your area model to the partial products in the algorithm.

a. 48x35

O+

|quo—=> | 449

o —

1.6%0

b. 648 x35
OO +40 + < R
>] 3,000 200|490 3240~ x3s
-+
| 52140
3| (3,000 1200 | 240 [19440——=1 4440
‘ 22 6%0
5 M
2. Solve using the standgrdg!gorithm. = A
a. 758xg92 “15% b. 958x94 qg:f
% 2 .
- 2832
La,713 6 0,05
COMMON | towre Eff.;"i:::;;:,;“‘::’;::;:;t':;:?:::’;:‘:;: e engageY

© 2014 Common Core, Inc. Some rights reserved. commonco re.org
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NYS COMMON CORE MATHEMATICS CURRICULUM ~ Lesson 6 Problem Set m

2 H
4 3 el
c. 476x65 /Eléf’lo d. 547 x 64 547
pelli .= x_bd
380 AT
A% 560 32 %20
20, 140 55,00%

3. Carpet costs $16 a square foot. A rectangular floor is 16 feet long by 14 feet wide. How much would it

cost to carpet the floor? i __ﬁ,‘ ‘ ' )

. ; Vo Lo =0l 2294
o Df Are-a: Leng’r\\ % \md)r\\ XY 22%umYs 'LzW“L Ry

S| 7 L& xusr =#3589 134y
' = 224 6° L8 £ 2240

- e 224 35%4

T wolld cost # 3 8%4 o carpet the Soar .
4. General admission to The American Museum of Natural History is $19.
a. Ifagroup of 125 students visits the museum, how much will the group’s tickets cost?
| ok = $19 by x‘ %65, The group\s —‘r\c,\CQ_BQ
25 umis= 125x T S Wil cost $3,375
w4 3716 1250
2375

b. If the group also purchases IMAX movie tickets for an additional $4 per student, what is the new total
cost of all the tickets? Write an expression that shows how you calculated the new price.

A YLS 25 i
19 a3 ﬂ,_ : )’\tl 3 [ he New Yodal _0’06‘\'
= 23 ¥ \2S T Coc QW the Hickets

= 287158 2500 wil\ be #2875
' 2375

COMMON ] Lesson 6: Connect area models and the distributive property to partial products

of the standard algorithm with renaming. engage ny 2.3.50_

Date: 8/4/14
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NYS COMMON CORE MATHEMATICS CURRICULUM  Lesson 7 Problem Set m

Name Date

1. Draw an area model. Then, solve using the standard algorithm. Use arrows to match the partial products
from the area model to the partial products in the algorithm.

a. 481 x352
481
400 + %0 + 1| x 352
} I 00 (b0 | 2[96Z > Qe
‘59 20,000 | 4,000]|506 |24,050 5 at] S0
BE0[12.0,000 [24,000308 44,2072 | 4 300
(o .3
b. 481 x302
481
O + 0 + | o
7; 00 (O 2_| oL ~o qu2
300| 120,000 24,000 300114430 ¥ 144300
‘ 199D L2
c. Why are there three partial products in 1(a) and only two partial products in 1(b)?
Since. thece 1S o zer0 in the Yens oloce n (Q

we (,\Qw(\-\( 1\@66& &N 56(1-3('10\'\ WA Yhe re,c-3r(>\ng\€-»
-Qw: -%exxs. "‘Y\r\e, whole \m\ue. con e Shown
w Wi J\i\b'\' hindeeds and ones .

Lesson 7: Connect area models and the distributive property to partial products
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Lesson 7 Problem set. [E{7)

2. Solve by drawing the area model and using the standard algorithm.
a. 8,401 x 305

%£,000 + 4D + |

S 4d,000 | 2,.000| £|U42,005
.

8,401
x 305

| - 4a005
300R.400,0C0 120,000 (3002520300 + 2530 300

a5 2 2. 305
b. 7,481 x350
7000 F4oOt B0 £ | 7,481
J0| 350,000 20,000| H,000 50]‘5'74,05’0 x 350
¥ 3714 50
DOV, 100,000 (12040 [24000| 30d|2 W% 30 T2 AYY 300

';;fﬂo l%/BSO

3. Solve using the standard algorithm. '

a. 346x27 . »;r b. 1,346 x 297 /L;C) g, j’:
246 | 346
X 271 A xAT
A4 212 R A A
+ L1929 121\ Q0
H#_C_JRBL_"L 4+ 29 L 00
549,76 L

COMMON ‘ Lesson 7: Connect area models and the distributive property to partial products
CORE

of the standard algorithm with renaming.

ny
Date: 8/4/14 enga-ge
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 7 Problem Set [FF))
i

c. 346x207 246 d. 1,346 x 207

x 201 A /&Dﬂ_

2422  GRES

£ 69200 t+ 26 9 A00

7, k22 BT By

A school district purchased 615 new Ia%)ps for their mobile labs. Each computer cost $409. What is the
total cost for all of the laptops? @ lg

x 409 - Jge bas] ©35.
£535 The loptop
S iCKelele
x5, 535
5. A publisher prints 1,512 copies of a book in each print run. If they print 305 runs, how many books will be
printed? \ S\z_
A_ 305
45’?@?88 Uel,160 books will be prinkad.
Jel, 160
6.

As of the 2010 census, there were 3,669 people living in Marlboro, New York. Brooklyn, New York, has
681 times as many people. How many more people live in Brooklyn than in Marlboro?
L [=3 -

55 4 ) |
Ablb9 249% ©%9 Q’qqqlqzo o e
Ll 78 - 3667 pevpie lwe nOF coklyn
3001 2 9a4 ,a20 Ao,
A2A0 | 40D
299%,539
COMMON Lesson 7: Connect area models and the distributive property to partial products
CORE"
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Name Date

1.

Estimate the product first. Solve by using the standard algorithm. Use your estimate to check the

reasonableness of the product.

a. 213 x328 b. 662 x372 c. 739x442 _
2= 700 X 40O Az 700 xN0O
=200 x 300 = a%0,800 = A%0,000
=60,000
b2 >4
213 X212 xqy <z
x 328 TEU Tl ¢
328 EES ERE
i‘ﬂ:{ 4 340 2q S0
3 £ a%600 +29 8L00
[ 296,269 220, L33
(,qu gbq ?\ R /
d. 807 x491 e. 3,502 x 656 f. 4,390x741
~ DD ¥ SO0 ~ (4,000 ¥ 100 [~ {000 xT700
= quiDOO = ,9\,?003056 - ‘3‘1?001 o000
207 B50L U396
2 “_BSE X 74l
301 A10\VL 4390
T2 630 {15\ 00 i T 5600
¥ 323300 2 \01200 | 4 30773000
Sy WS 2,391,317 5 &52,170
g. 530x2,075 h. 4,004 x 603 i. 987x3,105
7= SO0 f»l%OO 7~ {000 ¥ k00 o= i,000 ¥ 3,000
= 100000 = 3,400,000 = 3,000, DO0D
| 5“?“”5; HooH %105
i Sa,, X o3 A G%T
25 S6 LD AREES
62250 00 OO0 .
- 00 p.4g A60
£10375 4+ 24 © A400 2 2q4 500
| | 2 7a4 502
1,044,130 Q'qif—l,'—}ll- Z‘qu.bgs
i [ S e AORE g
Eg%E_MON l :?::.TE:‘; ;3; ’nsing estimation to check for the a‘seasonabteness engage ny 2.B.74
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2. Each container holds 1 L 275 mL of water. How much water is in 609 identical containers? Find the
difference between your estimated product and precise product.

Estimale!  Actoed: o 776l 975 m)
" ‘\‘?OOM\ P leee 'm%\_‘ ',r(aoq L AT S Su L 9785 mi
=7 20,000 . 176, 9TSml Lot

Ny ackual produck was SeL 475ml larger the e estimatkd Prﬂddd'-
3. ‘Aclub had some money to purchase new chairs. After buying 355 chairs at $199 each, there was $1,068
remaining. How much money did the club have at first?

\onk = $laq ASS ’ To‘gzg
355uniks= 355 x¥149 x1aq_ T2
= §70, 45 IEE $701.713
,‘_‘-,’;S‘%g% The oo hod
Tooas | d1,13 ok et

4. So far, Carmella has collected 14 boxes of baseball cards. There are 315 cards in each box. Carmella
estimates that she has about 3,000 cards, so she buys 6 albums that hold 500 cards each.

a. Will the albums have enough space for all of her cards? Why or why not? ! )
Ye WO} hoe enowgn foom For al hee cands n Hhe G\‘,N“\) f’t“’-ﬁé}?&*
ane\\as Qo coly gtm\dqd both the numbecs ok cards geq bo e
%\a Auapec OF bres ABWIN . e estimae wWas low Snee She vl
4D WAOKL SUME dne NOS enouwgh room Lo al\ hed e \2; "’)}pf -pr‘\0& &
Howld hove rounded whe nlmner of bores v WAL, 3000 RS =
4,500 Wod hue been abertel eshimode in the sikwation -
b. How many cards does Carmella have? z .
218 | W
%15 x W= 4,40 iﬂ% Cormelle ac:&xxou\\j as
31 5 O 0, 410 cords
M
dq 10

¢. How many albums will she need for all of her baseball cards?

skp counking SO0, 1000, \S00, 2,000, 43500, 3,000,

: 4], B00..
O 2505, 4,000 " \\
7°4,500 L 500 Smee the Albums hold SO0 cords eoch, She ‘
=q ~ need § albems Yehold all her cards-
Lesson 8: Fluently multiply multi-digit whole numbers using the standard
ES%MON | Zlfgtc;.lr;ﬂ;:; ::i .using estimation to check for the reasonableness eng'ag'e ny 2.B.75
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Name Date

Solve.

1. An office space in New York City measures 48 feet by 56 feet. If it sells for $565 per square foot, what is
the total cost of the office space?

4% ¥ 26%%

X S ¥t X 565 B -
a Slg‘é | 34940 I\ne. Oj;-guc,e, Spoce costs
260 %% & 1344000 b, 18, 2
' LS 18,120

2. Gemma and Leah are both jewelry makers. Gemma made 106 beaded necklaces. Leah made 39 more
necklaces than Gemma.

a. Each necklace they make has exactly 104 beads on it. How many beads did both girls use altogether

while making their necklaces? 105 e )
g 106 9\\2 (: To q eYhe( "H\"-j
CO NN | A0y t‘j“;é\ S04 Used 26,104

o Neck\bees 0000 beads
L] 39 ]xe '

b. Ata recent craft fair, Gemma sold each of her necklaces for $14. Leah sold each of her necklaces for
10 dollars more. Who made more money at the craft fair? How much more?

s $§ 34s0 , |
_&_ X Y -~ 148 Y LEO}'\ mDAQ @\'Q‘iﬁz
42 530 #1490 pwnfe thon emmon.
+10bo 400

B S
410%9 ¥3q¢0
3. Peng bought 26 treadmills for her new fitness center at $1,334 each. Then, she bought 19 stationary
bikes for $749 each. How much did she spend on her new equipment? Write an expression, and then

" (A % $1334) & (\a ¥ ¥4q)
4 VoY 3 “‘Mgf t 3ql(93d, per\ﬂ sﬁven% #q‘siCﬂS‘

% 2-lo A\ s el
i g 2
Fa %0 £74490 '
fade%d ¥ 14,23] )
COMMON DR - et oy s Ny  .sss
C E ‘ Date: ?!!829;11 | et engage T
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4. AHudson Valley farmer has 26 employees. He pays each employee $410 per week. After paying his
workers for one week, the farmer has $162 left in his bank account. How much money did he have at

first? ‘7 xqiz 10 66O
O e s it -
~ _— 4 L o 4
C*"“eﬂl 26 % 41D o2 206 0 TN
e %200

0660 At Hirst the Yormer

hod & (0,322,

5. Francesis sewing a border around 2 rectangular tablecloths that each measure 9 feet long by 6 feet wide.

If it takes her 3 minutes to sew on 1 inch of border, how many minutes will it take her to complete her
sewing project? Write an expression, and then solve.

'Ls 2x ( ¢+bt+4 Yo) K\ %3 =

| AX DO VI~
120 « > =l60

6. Each grade level at Hooperville Schools has 298 students.
a. Ifthere are 13 grade levels, how many students attend Hooperville Schools?

_A‘;‘?g 3 %74 studentys atrend

zq4 k—\oogec-\l \Ne Scheos -
t 2980

5}% T4

b. A nearby district, Willington, is much larger. They have 12 times as many students. How many
students attend schools in Willington?

s 18 4,498 Skadenks abhend

-1 14¢ 5c\o D\ in \J\)a\\nhgﬁof“ :
Y 3%7 4

s
Lesson 9: Fluently multiply multi-digit whole numbers using the standard

comuoN algorithm to solve multi-step word problems. eng ag eny
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Name Date

1. Estimate the product. Solve using an area model and the standard algorithm. Remember to express your
products in standard form.

s 2xads S0 x 9. = Yl T ——
‘ (tenths)—x22
20  + Y (tenths) 24 Gm_w@
A 4o g |48 denrhs A2
i - 455
| _ . )
b 31x33_ 3 _x 30 = 90 .
20+ 1 (tentn) trenthe g3
3 Q6 B Q3 tenths 31 (-ren-&-hs)
il * 33
' 3
30 700 30 q30 tenshs 8 g 5

D men”&) # }0d 2

2. Estimate. Then, use the standard algorithm to solve. Express your products in standard form.

5. dasdre o w BO = 150 b saegne o % G0« K7D
3 32
(tenths)—x-4-7- (tenths)—x-9-4-
232 Genths) 32,
w41 X qu
APM (2%
P30 2880
15 04 (kenshs) =[50 300 S (fenrhs) = 3003
EgaAEMON ] . s eng-ag-eny 5k
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& gawms @ = €D . @HO 4. 1ex17= [0 x A0 - 200

> (Fenhs) (46 Grenths)
x 44 = 0 'zj 2
(2520 92 Cherhs) - 2u
' . o 2 (tendns) = A4HG . 2
menm) = ITT.2. i
e. 82x34= QZ x 20 = 40 £, 1604x17=_ A0 x 20 =4 0060
DA (-’rer\-«r\r\b) oot (Fenths)
K 34 £\
DAY TIPS
el i [g 040
g’L!'I%? U(enﬁ\:) *97%*8 27 2% C--\-em—\\s)';Q,’TZ(a'%
3. Michelle multiplied 3.4 x 52. She incorrectly wrote 1,768 as her product. Use words, numbers, and/or
pictures to explain Michelle’s.mistake. 34 +€ﬂ:\‘h§ M \C\'\ -G.-u/és ny ﬂ\b oS
30+ 4 (fenshs) 5L .. are. Aght bt

' : A 6he .%rgo"r her
‘ii bo | B |e3temhs  q0p il s

60[ [500 [&00 [1700 fenths |7 LS e 4T6-8  epivns.

4, Awireis bent to form a square with a perimeter of 16.4 cm. How much wire would be needed to form
25 such squares? Express your answer in meters.

14 (Fenths) 410em <100 = H: I m
X 25
L 3520 .l meders ok wivre s
*¥2a30 | needed 4o wmoke
41 00 (Fenwhs)= 410 A5 squares.
okknaay | S MGG IR
Eg#i_MON ‘ e usingpp:;ge \:aluéfunderstandi::g to reco:(d partial products. engag-eny 2.C.9
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Name - Date

1. Estimate the product. Solve using the standard algorithm. Use the thought bubbles to show your
thinking. (Draw an area model on a separate sheet if it helps you.)

g 1osxme | % B0« 00 138x32 = 4. lb

S
(J

Think! 4,416 is 100
times too large! Wha
is the real product?

4,416 + 100 = 44.16

355x89= IS, A5

3.95

OOO X 89
2195
T U000
B 89570 o 3595

2. Solve using the standard algorithm.

a. 5.04x8 b. 147.83 x67
5. 04 7. 33
x 9 , b‘(’
' 8
4o,32 vy 1l

Lesson 11: Multiply decimal fractions by multi-digit whole numbers through

COMMON conversion to a whole number problem and reasoning about the ny
CORE- placement of the decimal. engage 2.C.20
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) 432
c. 83.41x504 %5"'“

; d. 0.56x432 X050
X Sou Lt .
3 >34 e
+4] 16500 + 21600
42,0 3%.64 Ad 92

3. Use the whole number product and place value reasoning to place the decimal point in the second
product. Explain how you know.

2 If9Bx768=75264 then 98x7.68=_ [9A-GY
1.0% witnd be (ke T6¥ hondred s 50 Jus ¥ dwde
15264 by 60, 5,264 +100= TSR b4

b. If73x1,563=114,099 then 73x15.63=_1,140.99

15:6% wowld be Lke 1,563 hundred ths, so Just dwde
W4, 049 vy 100,  1\4,0Q9 —iod = i, 14099
c. If46x1,239=56994 then 46x1239=_599.4 Sl
123.49 LUC\J\\(S be_' hke 1'237 +Cn4)f\5, S50 Ju‘s*’ W
56 G949 by 0. 56 999 <0 = 56994

4. Jenny buys 22 pens that cost $1.15 each and 15 markers that cost $2.05 each. How much did Jenny
spend?

§ .\ #29.05 { A5.30 - \ .'

% 2L xS + 305.75 Jem\j will spend

S A30 LOAS h 36.05 % S6-05.
‘I"SLBC‘O -rQ\DSO

b £5.20  F30.75

5. A living room measures 24 feet by 15 feet. An adjacent square dining room measures 13 feet on each
side. If carpet costs $6.98 per square foot, what is the total cost of putting carpet in both rooms?

- ad |3 260 $(. 98 j:{—wwu CDS:\'
5% %D&fxﬂi%ﬁ sy A= Al pih, ESZT . GHUMALE
_ iy |1 | 20 39 52 q o 2L%2 carpek bath
p o I D 13960 ropms.
260 loq £344000
ggaﬂEH_ION e B i s e i e

ny
placement of the decimal. enga.ge 2.C.21
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Name Date

1. Estimate. Then, solve using the standard algorithm. You may draw an area model if it helps you.

a. 121x14=~___ | « 14 - 14 1.21

(OO0 ¢ An ¢ I(hundfed-\r\"\s)_ x 14

g [ u6s [ o | g |ass headredshs kv

¥ ,r—‘
IO I,OOO 200 |10 \,mghund(ec\-w l .Q4y

6

b, 245x305= A x 200 - LD 2.45
% 3 05

e ey W

+ 13500

ETTRIPRS

2. Estimate. Then, solve using the standard algorithm. Use a separate sheet to draw the area model if it

30 -_30

helps you. . : _
a. 123x12=_J) x_Jd = [|& b. 13x26=~_ |

Jsd-3 |
X |12 R 26
24 1
r1230 t AbC
1076 53.%
o DFExite Dk = i d. oasx26= 0.9 x 30 - I5.0
; 45
xo.l%f s DQQ’
Q2 Q2TO
r 220 ¥ q00
B d L [ {s 2D

o

Lesson 12: Reason about the product of a whole number and a decimal with
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| NYS COMMON CORE MATHEMATICS CURRICULUM  Lesson 12 Problem Set [P}
8T L1 R W 3 ol LN TN Nyt W LT s AN SN et

e, Jo5xite_ ] x D0 = 20 i 632x223=_ (o x 200 - /;QOO
1. 06 (32
K 2% X223
Sousg 1< Al
rivy 20 ool ol B
Ta7.68 136400
)4 7658 | Ldo04d-°k
g 706x208=_ 7  x 40D -=1,400 h. 15146x555~ 20D x (00 =_i20.0C0
106 [S1He
x_20% X £89
564¢% 18720
+141200 L s
- L1573 300
143,48 %4 0 0-30
3. Denise walks on the beach every afternoon. In the month of July, she walked 3.45 miles each day. How
far did Denise walk during the month of July? "‘}5 B \\ - [ b qs
- enise. Wa Do -1
There are 3\ daygs xSl wiles J\L\j
n S\L\j , 345
T10350
|06.95

4. Agallon of gas costs $54.34. Greg puts 12 gallons of gas in his car. He has a 50-dollar bill. Tell how much
money Greg will have left, or how much more money he will need. Show all your calculations.

Ty 34 $ 53.0%
i b% 50. 00 The gq msmm%35ii02308
e 4
ft%gqo JR Oreg needd AROTRE
P<2.0%

5. Seth drinks a glass of orange juice every day that contains 0.6 grams of Vitamin C. He eats a serving of
strawberries for snack after school every day that contains 0.35 grams of Vitamin C. How many grams of

Vitamin C does Seth consume in 3 weeks? A ol (eSS
3 W eeks Bweeks afkesdool | Seth consum '
e : \T Aays ; \'1.85 groms
2\ days 12: 0 o
X 0.b kKO- 52 A ®.35 in 3 weeks.
b i '—lgo (1,89
S - TF
Lesson 12: Reason about the product of a whole number and a decimal with
gggEMoN i {;;::;::ths using place value understanding and estimation. eng-ageny 2.C.30
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Name

' Lesson 13 Problem Set [EXF))

Date

1. Solve. The first one is done for you.

a. Convert weeks to days.

8 weeks = 8 x (1 week)

=8 x (7 days)

=56 days

b. Convert years to days.

4 years = Ll x ( ‘
H o (365
\L“CIO days

year)

days)

c. Convert meters to centimeters.

ol wgp m)
o Qed »t 16D
A20 o

9.2m=

1]

d. Convert yards to feet.

T '&Clyo\rd)
. 571+ (3 feet)
2 |Tad gr\ee,\“

5.7vyards =

e. Convert kilograms to grams.
6.08ke = (,.0% (| kg)
6. 0 '&(ilﬁDOj)

i

\)

(9’0‘603

7

Convert pounds to ounces.

12.5pounds = |7 . 5 b Q \h)

= A 5 % (' = 0‘2_)
= 200 0z

Lesson 13:

COMMON
CORE’

measurements.
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NYS COMMON CORE MATHEMATICS CURRICULUM

 Lesson 13 Problem Set |3

2. After solving, write a statement to express each conversion. The first one is done for you.

a. Convert the number of hours in a day to
minutes.

24 hours = 24 x (1 hour)
= 24 x (60 minutes)
= 1,440 minutes

One day has 24 hours, which is the same as
1,440 minutes.

b. A small female gorilla weighs 68 kilograms.
How much does she weigh in grams?

(o?akf) =% x (| Kg)
- % x (1.0009)

= (0%,000
She. weighs (%, 000
gGroms.

c. The height of a man is 1.7 meters. What s
his height in centimeters?

Ve 21T % ()
\ii]l X (\OOQN\
o '\'—l(} aw

s hegny 1s V1O
cenYime ders:

d. The capacity of a syringe is 0.08 liters. Convert
this to milliliters.

0.0% L= D.0% %(lL)
- 0.0% ,LQ.DODmD

=]

= %DW\L

The cc\Qo\cx-\r\j ot Yhe
54rnge s %0 mlbi\ ers -

e. A coyote weighs 11.3 pounds. Convert the
coyote’s weight to ounces.

13 b 1L x (V)
e §NeD '*(\LOGYD

: A\20.% oz
The coyohe '\ne\g\\s

\30. % oonces

f.  Analligator is 2.3 yards long. What is the length
of the alligator in inches?

A3 yd= 23n (L3d)
- % m C?ﬂot"f’b
- 32.% n

The \6\;\9*\\ 0§\' ‘\'\\Q’
G\\\qcﬁuf S FTA.B inches -

Lesson 13:
ggg!hMoN | measurements.
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Name

 Lesson 14 Problem set [EX73

Date

1. Solve. The first one is done for you.

a. Convert days to weeks.

28 days = 28 x (1 day)
1
=28x (; week)
22 week
7

= 4 weeks

b. Convert quarts to gallons.

20 quarts = .9\0 x (1 quart)

-_A0

*0

= q gallons
. o

X G gallon)

gallons

6080g= (p, OO {\3}

= .0% Kﬂ

- (,,030 x (0. 00\ kg)

c. Convert centimeters to meters. d. Convert meters to kilometers.
920cm = qtlo x ( l cm) 1,578 m = i. 67% x ( i m)
- 420 < 00! m) - 1.57% x(0.001km)
= q ¢ )"‘ m = i L 5 \.1 8 km
e. Convert grams to kilograms. f.  Convert milliliters to liters.

soomi= S (0G % Qm\)
. 509 x (0.001 L)
s B 309 L

Lesson 14:
measurements.
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~ lesson14Problemset ¥

After solving, write a statement to express each conversion. The first one is done for you.

a.

The screen measures 24 inches. Convert24 | b. A jug of syrup holds 12 cups. Convert 12
inches to feet.

cups to pints.

VR eops = 1L % (evp)

24 inches = 24 x (1 inch)

[ ¥
=24 (= feet) = VL. (2. 9‘“'\'\
-2 feet = 1—3{- pwnks
=2 feet = (o Q“\\-S

2 Cops 1S ecbw\ Yo b ?‘“*5

The screen measures 24 inches or 2 feet.

c. The length of the diving board is 378
centimeters. What is its length in meters?

d. The capacity of a containeris 1,478
milliliters. Convert this to liters.

TR e DTT (\Qm) \UT% ml = L AT % \\ L)
- 37% % (0.0lm) _\u1g x (0.0
el L4830

The c\\\i.\ms boards Yength| 1,u1% mlliliters s g.(bw\

15 318 meders. Yo \.a7% \itess.

e. Atruck weighs 3,900,000 grams. Convert f. The distance was 264,040 meters. Convert
the truck’s weight to kilograms. the distance to kilometers.

5, 400,0004 73,900,000 A(lg) | 2ed040m= 2,010 "‘Q"'f‘\
= 3,300, 000 A(D‘DD\ h{D = 24 O * @.DQ\ Km)

= 3400 kj = 24.04 Km

The frueks werght s
%900 kiograms -

The disYonce was 404
Kdomeders .

COMMON | Lesson 14:
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Use fraction and decimal multiplication to express equivalent
measurements.
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Name Date

Solve.

1. Liza’s cat had six kittens! When Liza and her brother weighed all the kittens together, they weighed 4
pounds 2 ounces. Since all the kittens are about the same size, about how many ounces does each kitten

weigh? ‘—\\b 9\01 | *
P — - Gonks =606

{ j \\)n\sc
~—

¥ Gip= A x(\\) |
= V\Q\o'm_\ E o aHen me\g\\ed

= ta‘-\ oz dooux W\ ounces:
b oz ¥ 20z = bboz

2. A container of oregano is 17 pounds heavier than a container of peppercorns. Their total weight is 253
pounds. The peppercorns will be sold in one-ounce bags. How many bags of peppercorns can be made?

(1%l = W& x (1 \b)
0 17 1b = 0\ (boz)

A53 b = 1 0 p%

TR g \%
. *_3-_&)__(%__
“10¥
b S Y —17 226 .J;__}__C_%_Q.
&Uh\'\'sfl'&b 1@@%’
\ yrmiy = W\8

| 39% Yays o peerroorY\J
ton ve mode.

COMMON Lesson 15: Solve two-step word problems involving measurement conversions.
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3. Each costume needs 46 centimeters of red ribbon and 3 times as much yellow ribbon. What is the total
length of ribbon needed for 64 costumes? Express your answer in meters.

/__/L,\ \ 84
el | s masd . XY
il(ﬁ"{ (ﬂ"*u\m'\'j] _:[.--3-‘—-—6—-'

— e
| | . \ o= \ e *\\OU(O
; | T I LV oS s G4 A\ FHem ﬁ
\ony - Yo e =\, Tl em
U SR W, 176 x(Nem)
= \?)‘-\ cN =\ 76 &(O‘D\ me\'ﬁa
=17, 7b meters

The olal \engt o ribbon needed fer Y epstomes 15 lk:j(»'l.;'tl?i

4. When making a batch of orange juice for her basketball team, Jackie used 5 times as much water as
concentrate. There were 32 more cups of water than concentrate.

a. How much juice did she make in all? '-\ oS = 32 Q\JlPS
c Loy = B Qugs
’ 6 b umYs= 4% cog>

W | | |
\\_,L,_\L/ Qockie wode 48 cvps
DAL CpS ok yanee.

b. She poured the juice into quart containers. How many containers could she fill?
L{%Qups = 4% =~ (\QUPB
= U Q"q quar Y)
« Of
i She cond =0 2
2. Vi conaners.

—

Lesson 15: Solve two-step word problems involving measurement conversions. n
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Name

1. Divide. Draw place value disks to show your thinking for (a) and (c). You may draw disks on your personal

white board to solve the others if necessary.

Date

a. 500:10 = 5()

b. 360+10

= 801

c. 12,000 +100 = IZ’O

(000 (00D«
1000) —=

0
100 D

d. 450,000 + 100
= 4,500 ~|
+ 4 560

e. 700,000 + 1,000

= 700 = |
= 7100

f. 530,000 + 100
=5 300~ |
2 3 500D

2. Divide. The first one is done for you.

a. 12,000+ 30
=12,000+10+3
=1,200+3

= 400

b. 12,000 + 300

= 2,006 + 100+ 3
= O +3

= D

c. 12,000 + 3,000

= [2,000+i00073

= PT3

—

- q

d. 560,000+ 70

= §60,000 =10 =7
2 Rp,000 =7

e. 560,000+ 700

= 860,000 Tic0 + T
=5, 60077

= 300

f. 560,000 + 7,000
= S0, 000+ 1,000+
= 56D +7
= 30

= ‘8 ; 000
i B A A R 5l Tl T T i+ F PSSP R U AT O WD e s Dl Y 3 T s g7 W L e N R
Lesson 16: Use divide by 10 patterns for multi-digit whole number division. n
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g. 28,000 +40 h. 450,000 + 500 i. 810,000 +9,000
=33,0002/0F4  |=450,000+0015 |2 g0, 000 1,000 +9
: 4,300 + ¢ - 450D %+ 5 - 36+ 9

= 700 = q00 = q

3. The floor of a rectangular banquet hall has an area of 3,600 m?. The length is 90 m.
a. What is the width of the banquet hall?

3,000 +90
7 | 10m . €3 LoD =4 The wid+h _0-3; Yhe
. ‘A5 3,600 W\L = 3oL+ q bO\Y\(\U&:\' \’\O.\\

" = 4o \s 40 mekrs.

b. A square banquet hall has the same area. What is the length of the room?

A = LKL = 3(0_ The. \eng’rh oY +he
0 % b0 = 3,600 ban ‘bw)r il

K SFbO’OmI _
15 O meters -

c. Athird rectangular banquet hall has a perimeter of 3,600 m. What is the width if the length is 5 times
the width?

3, 660 I 2Zumts = 3, 600
/—\’k,_/\ \ . )
| \ oY = 3,000 % 12
J ' - 3200
lét‘\g—ﬁ\ width "‘\,\Q wid Ph DS he bo\r\fb\} Y
ol 13 30D meters.
ESEE-MON Il;e:t::n 16: g;zegjfluide by 10 patterns f;:r multi-digit whole nur;'lber division. engageny ——
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4. Two fifth graders solved 400,000 divided by 800. Carter said the answer is 500, while Kim said the answer

is 5,000.
a. Who has the correct answer? Explain your thinking.
1400, 000 -+ QO Coxtec wos oo (et bec.omb@;
=400, OO = 100 =% 0o ik Srowed on Ane 108 \
000 e % b\'ﬂ{J B\ %\Qusaf\ds d\\hc\ac
= 4,000 = A S
= SO0 ‘oj %156 Y °

: \S.
\’\o-f\dmclsj nNoY O '\)7\0\,\50“(1

b. What if the problem is 4,000,000 divided by 8,000? What is the quotient?

4, 600, 600 + 3000

vl

4 600 (O00 -+ 1,000 + %

4,000 +%
500

LS
A Y

%)

The ':b'\kc'\f'\@f\"\' was SCO.

Tl i i TR A T o 23 S s o A T i e 0 A e S e
Lesson 16: Use divide by 10 patterns for multi-digit whole number division. n
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Date

1. Estimate the quotient for the following problems. Round the divisor first.

4o+ 10

2A40 -

6O

. 4

a. 609+21 b. 913+29 826 + 37
=600+ 20 = = -
qo0 : 30 300 4O
=30
= B0 - A0
d 141+73 e. 241+58 482 + 62

656 + 81

2(0‘-){0 :_30

h: 799+99

u

$00 : 00

g

u

S

o

2
I

G

311+76

zle% I0

4

k. 648 +83

40 -

u

}0

R

143 + 35

1D+

u

40

0
I_L

525+ 25

e . 30

u

n; 552:8%

SHE +

n

40

yEs,

"
S

667 + 11

= (00 -

|0

LO

COMMON
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2. Avideo game store has a budget of $825, and would like to purchase new video games. If each video
game costs $41, estimate the total number of video games the store can purchase with its budget.

Explain your thinking. |

$ 335 _%341 \5 aAPQ o x\"mo&e_,\j 3@@0 o ﬂQO "

$ 200 + %40

s 20, The Jides slore con

afdord Yo '\00\3 20 vided gomes -

3. Jackson estimated 637 + 78 as 640 + 80. He reasoned that 64 tens divided by 8 tens should be 8 tens. Is
Jackson’s reasoning correct? If so, explain why. If not, explain a correct solution.

BT <119

COMMON Lesson 17:
CORE" Date:

© 2014 Common Core, Inc. Some rights reserved. commaoncore.org
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1. Estimate the quotients for the following problems. The first one is done for you.

5,738 + 21 b. 2,659+28 9,155+ 34

~ 6,000 + 20 = 3000+ _30 ~ 4000 +_ 30
=300 =_100 - 300

1,463 +53 e. 2,525+64 2,271 +72
1S -:_S0 2400 +_ (0 2,100 . 10
=__B) -_40 w_ S0
4,801+75 h. 8,515+81 8,515+ 89
-4.300 . €O -%.000 + €0 - %.100 .90
. 6O ._ID0 -_4q0
3,925+ 68 k. 5,124 +81 4,945 + 93
-4200:_10 -4 80D :_ %D -4 S60:_90
- _bD -_b0 -_50

. 5,397 +94 n. 6,918 + 86 2,806 + 15

- Sqo0._ 40 .1,200 40 - 3000+_IS
-_60 -_%0 -_200

COMMON
CORE

Lesson 18:
Date:
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NYS COMMON CORE MATHEMATICS CURRICUWM _ Lesson 18 Problem Set [EXPR)

2. A swimming pool requires 672 ft” of floor space. The length of the swimming pool is 32 ft. Estimate the
width of the swimming pool.

ey e The estimoted widh u-g'\
> 00 ~ SU e swimm w\b £oo
= s AO S;ee.'\'-
3. Janice bought 28 apps for her phone that, altogether, used 1,348 MB of space.

a. If each app used the same amount of space, about how many MB of memory did each app use?
Show how you estimated.

\ DU % — 25 Eoch o xsed abOUC\‘
/s 200 730 UD MB o} wewmory -
= {40
b. If half of the apps were free and the other half were $1.99 each, about how much did she spend?

2% +2 =14

4« ¥1.49 Torce spent about $ 2.

gz W B %
X%

4. A quart of paint covers about 85 square feet. About how many quarts would you need to cover a fence
with an area of 3,817 square feet?

3BIT ""' 85 You would need abowt 40
/e 3, 0D T q0 %uaf.)‘.g o cover Yhe
- Ho S;ef\(;e_ .
5. Peggy has saved $9,215. If she is paid $45 an hour, about how many hours did she work?
8§ 9B +935
7~ 10,060+ 36
= 00

AR

Qegﬂ LJ \MQYKQQ C\\)D\K'\_
906 \'\0\}\(5.,

Lesson 18: Use basic facts to estimate quotients with two-digit divisors.
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Name Date

1. Divide, and then check. The first problem is done for you.

a. 41+30 Check:
1 Ri11
3 gla 1 30x1=30
3 0 30+11=41
1. 4
b. 80+30

c. 71+50

d. 270+30

20\ 210 30'3‘\6{:9‘(10

e. 643+=80 | (3 ﬁ,_‘-:) %0 % % & bqo
%OiLOL\E) (qu 5 7 (0“{5

" 2Le 3 ‘
f. 215+90 OV 35 qQo £ 2 =\%0

Al

- 190 \Cé()%?)s-als
PR el
.-3 s
L X - I P e T WL i e SE Th R s i S Te Dol i - e U 3 3
L 19: Divide two- and three-digit dividends by multiples of 10 with
COMEMON | ceson silngle-dig'ii ::atier:tes anlcllglmall‘cl connections to a written method. enga_g eny
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2. Terry says the solution to 299 + 40 is 6 with a remainder of 59. His work is shown below. Explain Terry’s
error in thinking, and then find the correct quotient using the space on the right.

4 0[2 9
- 2 4
5

wio wulo
E =Y
o

Teﬂ"j wsed b groups o 40 and 3@-% Q40D. Dt
Yhefe wWwas o rem&\r\der ot ”5‘1; whaen -ﬂ
weons he cold moaKe one yapce 40uP 0O

Vo, The coffecy Cﬁud“ﬂen’r S T with o cemamndec

3. A number divided by 80 has a quotient of 7 with 4 as a remainder. Find the number.

c-q' \q.

50
5euU

)i

1 Y -

: 0 x
OV 2

® ’ S0 +4

T\\e AU Mpec WS SbY -

\i

4. While swimming a 2 km race, Adam changes from breaststroke to butterfly every 200 m. How many

times did he switch strokes during the first half of the race?

2 km = 2,000 wm

'% ok 2, 000m = 1,60 m

|, 000 & 200 = S

pr\O\W\ sw\-kh&c\ 2drokes S %\ﬁ\es
C\U&W\g e st nolk of Yhe roce.

single-digit quotients and make connections to a written method.
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Name Date

1. Divide. Then, check with multiplication. The first one is done for you.

a. 65+17 b. 49+21 Q\,\ef_y\ p
A R

3R 14 Check: X rq’q_— QJ '-{2—

17[6 5 ) i ™
b 42 A o
14 51+ 14 =65 1 4
c. 78+39 d. 84+32 Q\\ee,\(,t

5 Check.’ 2 39, Ll
-3,61‘[1 g’ Zal 52 VET x2Z +20

e. 7725 C_\'\e o f. 68+17

3 Q2 ' 7
as\ a1 25 -1S TG % lq
5. T4 0 0%

e S

co MMON Lesson 20; Divide two- and three-digit dividends by two-digit divisors with ny
o - single-digit quotients and make connections to a written method. eng age
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| NYS COMMON CORE MATHEMATICS CURRICULUM  Lesson 20 Problem Set [0}

2. When dividing 82 by 43, Linda estimated the quotient to be 2. Examine Linda’s work, and explain what
she needs to do next. On the right, show how you would solve the problem.

Linda’s estimation: Linda’s work: Your work:
2 2 | €39
40 | 80 431(8 2 43 (8 2
- 86 - 43
?? R
39

nda ' L 4p=2 ne. - But when
Linda s estimation of 20+40=2 wos $ine - Bu
she. AwhAed, :;hg_ ceolizedd thot U3 r2 =Sb. She.

cont Yoke awody Tb Lrom $2. TA showld be
\ group of W3 The %uo*\en'\' 15 1wk o yemamde !
ok 24.
3. A number divided by 43 has a quotient of 3 with 28 as a remainder. Find the number. Show your work.
F‘L@R% W 129
S AR X3 + L% . \&T,
87 The nombec wa

} .9
4, Write another division problem that has a quotient of 3 and a remainder of 28. 3L 2 R
2 R2A% - . chee> 52 TgY
'? P ; -
1 X3 x2% )
156 M

34 dwaded bj 52 e‘b‘*"“ Yo 3 wibh aremanded ok 2%.

5. Mrs. Silverstein sold 91 cupcakes at a food fair. The cupcakes were sold in boxes of “a baker’s dozen,”
which is 13. She sold all the cupcakes at $15 per box. How much money did she receive?

| o ;
-T"‘ l\k\’\\-\‘—%\g . ’
l?)« gll Nomts: % %18 <he cecelved Bi05.

e —

O = o5

Lesson 20: Divide two- and three-digit dividends by two-digit divisors with
Eg%.MON | single-digit quotients and make connections to a written methad. engageny 2.F.21
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Name Date

1. Divide. Then, check using multiplication. The first one is done for you.
a. 258+47

5 R23 Check:
47[258 47 x5=235
- 235
& i 235+ 23 =258

e g e BT

 sors S RT L 384
. 591:73 A TETT Q\\Q(.L. - e

1

d. 759+94 % T v qu P
qLiﬁS_cl ek A % r
“ B8 =y 154
1

e. 653:74 % R\ ¥ ,
wigEs & St 1) SHR

~ G A + b
()

f. 257+36 ‘ “’l KS d,\ K’ ?)(0 a5
3oTas 7 i g
- 452 K |

2 asz A>T

COMMON Lesson 21: Divide two- and three-digit dividends by two-digit divisors with ny
co“— single-digit quotients and make connections to a written method. eng ag e 2.F.32
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2. Generate and solve at least one more division problem with the same quotient and remainder as the one
below. Explain your thought process.

8 ¥ R\

584 7 5 L] | O
« 4 86 4 - Q06
e Y

1} wme oNn S ‘IJN)}'

_ ¢ ' o temande
Tn ocdel o hove W\ as < §>\c,\<£.c§\

| iaer | y 4 I\
---}\\Q, AWisofC hos Yo be mole non
¥Le V3 'XfS“—'Or(o!Qv\c& Ok + \\ =107,
3. Assume that Mrs. Giang's car travels 14 miles on each gallon of gas. If she travels to visit her niece who
lives 133 miles away, how many gallons of gas will Mrs. Giang need to make the round trip?

9 , -
V5% & V33 266G \qr;‘(lc/(g— M(3=C9\an3 neeos _
ot d =19 *_1__‘;'_*(’0 \4 gallons ok gas
| o founad YOO

4. Louis brings 79 pencils to school. After he gives each of his 15 classmates an equal number of pencils, he
will give any leftover pencils to his teacher.
a. How many pencils will Louis’ teacher receive?

S RY :
\S ‘/‘q L ous )fea Q\\e,( Q,U|\\ recewe

-5 s\ Qeﬂo,'\\6~
i._|

b. If Louis decides instead to take an equal share of the pencils along with his classmates, will his teacher
receive more pencils or fewer pencils? Show your thinking.

4 15 15-4 =
Vb 179 ’
-bYy T Lows takes an ec&&,\a_\
1S Sore, s reaner wil\
geX W wore pencils.

Lesson 21: Divide two- and three-digit dividends by two-digit divisors with
Eg%E.MON single-digit quotients and make connections to a written method. engageny 2.F.33

Date: 8/4/14

This work Is licensed under a
Creative C ribution-| ial-ShareAlike 2.0 Unported License.

© 2014 Commeon Care, Inc. Some rights reserved. commeoncore.org



R NI AR A
ms@bm’ﬁdant 3’3& MATHEMATICS CURRIC

Name

Date

1. Divide. Then, check using multiplication. The first one is done for you.

a. 580+17

4 R2
17580
- 5

= 00jw

o~
o O

.

b. 730+32 273 (L')_Lo
32\73¢
- b4t

c. 940+28 5 R.l(o

d. 553+23

-4 ¢

244

-230

Q9
COM_MON ‘ Lesson 22:
CORE Date: 7/29/14

© 2014 Commen Core, Inc. Some rights reserved. commancore.org

Check:
34x 17 =578

578 +2 =580

check
3L
Wy
T (o4
+ 640

ladte L. A
1 04

ekt
33
X233
2 4

ek
Hb
_x\
230
t MbO
LA 0O

T AL e ? F:_“
oroblem set. [E2E)

— :';'.,_fgf‘ #1 % Lbssan 22

q24
+ |

q40

552

+ |\

555

40
4+ W\

———————————

104

Divide three- and four-digit dividends by two-digit divisors resulting in

two- and three-digit quotients, reasoning about the decomposition of engage ny

successive remainders in each place value.




- B 6O
A ol

2. Halle solved 664 + 48 below. She got a quotient of 13 with a remainder of 40. How could she use her
work below to solve 659 + 48 without redoing the work? Explain your thinking.

13
48[6 6 4
- 48
18 4
o tainal whle
S‘H\cej i)he_‘ Wy o,g- 65‘3\ s S lﬂé,b -'\)r\mr\ 2—\\6 'c,r\sm ::\rb
ol LY. T meons ok \ns‘\ec_xd ok on tewownde
0% 4O, \* Showd e 35. The quoTient ok 629 chwnded

by 4% iS5 3 with a remownder 04 35.
3. 27 students are learning to make balloon animals. There are 172 balloons to be shared equally among
the students.
a. How many balloons are left over after sharing them equally?

51'7‘1‘1‘2% (O bo\“bmf\s W ere \e\'-\' over
sl aSker S\\orm‘ﬂ Ynhem

e Q%\Lo\\\\j.

b. If each student needs 7 balloons, how many more balloons are needed? Explain how you know.
27 189
X7 -112
1 %9 \
T wore baloons were. needed n ocder Cc eoch student
4o have T balloesns. 27T greups of Tis egual 4o 189
_They alceady Wowe 1T2.  A89 - 112 = /1T

Lesson 22: Divide three- and four-digit dividends by two-digit divisors resulting in
COMMON \ two- and three-digit quotients, reasoning about the decomposition of engage ny 2.F.44

successive remainders in each place value.
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Name

1. Divide. Then, check using multiplication.

a. 4,859+23 b. 4,368 +52
A\ ) V,‘LLL
4 T |4
93]4%5‘1 all 4%$53 S2 L‘t?’{"E ASL
Y ¥ A23 t -alb i
a5 l ©33 4359 20% 0
eI ¥ Mrae ~ D0%_ 42 ”
22 Y55 B
~ A3 r
”
c. 7,242+34 d. 3,164 =45
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: (02_*’ "&é'é_i — & 290  Bied
Tz pur DR
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2. Mr. Riley baked 1,692 chocolate cookies. He sold them in boxes of 36 cookies each. How much money

did he collect if he sqld them all at $8 per box?
| Lq2 .
36 Hocti-
- - Y 51518 §
1 3, e % 3 : N " =
‘%3(5 k "5\9 252 glg|g <
Bornt i 2 3 . ¢ -~ A5 PBox)? | 2 ARy |
C

47
M. Q\\euj collected 3376 . —;—%’-'

3. 1,092 flowers are arranged into 26 vases, with the same number of flowers in each vase. How many

flowers would be needed to fill 130 such vases? 5
| 0az :
' ] = ‘ 120
l? | ] ] gzlazfuz] o Jez|  xae
Nase: v 2 3 - Qe Voset 1| a2 3 --- i3p 2O
g +3200
26TT0AT 5460
-~ 5460 Nowers would be
-52 needed 4o %\\ \20 Yases -
O
4. The elephant’s water tank holds 2,560 gallons of water. After two weeks, the zookeeper measures and
finds that the tank has 1,944 gallons of water left. If the elephant drinks the same amount of water each
day, how many days will a full tank of water last? L{ L} o) 3
2,560 2,560 U ol o quixg 60
e e e e &
Full | | - ya Yy Ly =71 Y
. Bemris B
-\-om\'..wﬁ_JW bl = 50 _a35L
\auy o — 5

J
F """ The Y\ Yone will \ast
et ’ | S Aays- Theve Wi\ be
Aaj-. | 23 ¢ M a \ixDe wakes e

B

c OMM °N | Lesson 23: Divide three- and four-digit dividends by two-digit divisors resulting ny
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Name

Date

1. Divide. Show the division in the right-hand column in two steps. The first two have been done for you.

a. 1.2+6=0.2

C. 24+4= .(0

e. 147+7= 9\-\

g 034:2= W i

i. 045+9-= -fOS

k. 345+3= \ '\5

COM_MON Lesson 24:
co“ Date:

® 2014 Common Core, Inc. Some rights reserved. commoncore.org

b. 1.2+60=(1.2+6)+10=0.2 + 10=0.02

d. 24+40=__ .4 TI1I0= 4>
Oi;\“l "} q‘ -
. Ok

f147+70=_14. T TI0+ 1=
P e
Y &)

hs4s20- DM TIDT 2=
oM = 2=
0. U1

| 0asss0=_DHOSTID+=9 =
O DS 4 =
0.605

L 3a5+300__ 3.5 T 100 T3+
0345 <3=
0.\3

Divide decimal dividends by multiples of 10, reasoning about the

placement of the decimal point and making connections to a written eng-ag-eny
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beac-

Use place value reasoning and the first quotient to compute the second quotient. Explain your thinking.

. 465+5=93 Tnastead of 5 GroupS, Yhere Qfc SO
465:50=__ 09D grougs Thats 1O fimes move 3(:;;\{35/
50 Ahere musk pe 10 Aimes less
eON AITUP .
0s51+30=_0.0\VT WUWSY be 1D Xwmes \éss in eadn grouwp.
. 5 . & <
294 £70=042 TV ece. Gt 10 Xines Sewel ﬂrolwg , 5o Yhe
294+7= 4.2 o Xo be \Q '\'\“\&5 M ove Wy e oeyy ﬂ(BUP‘
. 13.6+40=0.34 : ; ._ g; — 50 ectn
There ace 10 hnes yewed grovnes,
era- 3.4 grove st howe 1O Fmes merce:

Twenty polar bears live at the zoo. In four weeks, they eat 9,732.8 pounds of food altogether. Assuming
each bear is fed the same amount of food, how much food is used to feed one bear for a week? Round

: .
your answer to the nearest pound. A0, 2% | Al \b gq 33.2.=-20
, 702 L a0\2433: A0 = |3kl
F bl i e = T ey
L1 il 4 | "
I %= W & ' ”]’3 —33 | Abouk 122 pOUNAS O
& - 2 -20Y  Seod is Yed
. 122 poe polaw beaf
7 -2, \L = 2.0 . Y\
= ] S o Soce one week.
= = 20 : V2o

4. The total weight of 30 bags of flour and 4 bags of sugar is 42.6 kg. If each bag of sugar we%hs 0.75 kg,

what is the weight of each bag of flour? 18 N ) { . B2
Y-k ,QO 4 e é’ 30Y29. 0
T — 356 34 ot
0.1 [0.75 [0:15]0.T5) 3.0 39 b —qob
baa ot flourst T 7 F 30 syl Q0
¥ | B
. ‘ ~ 0
Eoch bag of Your weighs \-32 Klograms. o
Lesson 24: Divide decimal dividends by multiples of 10, reasoning about the
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Name Date

1. Estimate the quotients.

2 320:82= 320 hundredths + 80 = Y hondred ths = 0-04
b. 3612:61= X0+ 0 T b
. 715:31= [ + 30 ° (:(},“.'3)%i0 = 240 = O«2
d. 852:31= 40D +30 = 3
e. 2797:28= 28+ L% = |
2. Estimate the quotient in (a). Use your estimated quotient to estimate (b) and (c).
o 7a653s § 4o = (§EH+10= 2110702

b. 71636 DO — YO = X0

¢ 716+36~ Y0 — 4O = L

T Rl P S Bia 3 W BT A, S i SO S T FES STl BF) o e - #i " 8 T T

Lesson 25: Use basic facts to approximate decimal quotients with two-digit
Eggi.mou ‘ divisors, reasoning about the placement of the decimal point. eng ag' e ny 2.G.20
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2 =
: n-s' t
Matdle 1a o2y STy = oo m

Edward bikes the same route to and from school each day. After 28 school days, he bikes a total distance
of 389.2 miles.

a. Estimate how many miles he bikes in one day.

590 + 30 = (390510) <3 = 373 z)3
E&ward bikes about 1D ma)es O\C\QS.

b. If Edward continues his routine of biking to school, about how many days altogether will it take him
to reach a total distance of 500 miles?

SO0 =19
~ ys50 +15:=30

~ s

X 930 L= 40

T Wl Yoke adoont 40
d&*35 o (emeh > 00
Mm\es -

Xavier goes to the store with $40. He spends $38.60 on 13 bags of popcorn.

a. About how much does one bag of popcorn cost?

28 o =+ 13
39 +10 = 3.9

—~
f

One o9 cosys obout 33-"?0

b. Does he have enough money for another bag? Use your estimate to explain your answer.
, \ed Ne
&Q ~ Xaver Or\\j hos LR 40 \el) ani\\+*
; Aan Al
PoECSC A COSTS WY wote na

Soe o \‘30\5'

Use basic facts to approximate decimal quotients with two-digit
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Name Date

1. 156+ 24 and 102 + 15 both have a quotient of 6 and a remainder of 12.
a. Are the division expressions equivalent to each other? Use your knowledge of decimal division to

justify your answer. . 6.% B .
A4S0 0 1S TToa. O 5% 6b-3

vy -q0
“Lo 20 N, they are ndk 9‘6\\‘*\°
Pe ~\20
o O
b. Construct your own division problem with a two-digit divisor that has a quotient of 6 and a remainder
of 12 but is not equivalent to the problems in 1(a). & ENE
_ rb_]ﬂ \7 oz chedll \Rq
11 AL 112 ~1&L
jioZ 14 \Z (
4 Awided by VT 15 egual 4o b with & remondeC o | &
2. Divide. Then, check yodr work with multiplication. .13 C\\{{('_,k-:
a. 36.14+13 A.T8  heckss b. 62.79+23 :
\3 V36, 14 C}\e,' 1% 9’2.'3 b« '7({ -
- 2L ¥ A 1 .o fa ;g_____'l—.—.B_.-
10 | o A LT “g1\4
- q | ¥ RS gé l w\ q E __‘5:»__“__*,_(9_9___
i0 + 21059 .
-104  S.id - @‘1-__ o214
o [6)
¢. 1221+11 At ehesiet. d. 6.89+13 0. 53 eheck
“hlsll .4l 216 %9 0.53
- ¥ < \\ -5 ¥ x 13
WY 39 Taa
. Wl < 789
—3 12, 2\ .
e. 249.6+52 4.8 Check’. f. 24.96+52 O 48  (heck.
5213n9.6 4.3 52129.90 H.4%
- 20% v - 208V
4l b : __’i__5___i,-__ d1\ b {:__é.,‘);-
~4) 6 90 G ab
249 i 9\1,\ aG
I.es.so.n 26: Divide decirﬁ;I di:vi-{;;::l.s:h two-; it-divisors, est{rﬁatin uotients, "
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n Set

5.1 Cheek. 51 Cheek:
g 3009:59 54{300.9 359 h 3009:59 59 [30.049 S9
- aq5-u xS - 2495 » 0.5l
59 59 59 59
=09, 4100 - %9 2430
D 3) (8] 0. q O 3)0 ‘O q

3. The weight of 72 identical marbles is 183.6 grams. What is the weight of each marble? Explain how you
know the decimal point of your quotient is placed reasonably.
A 35 ey
T2N%3. 0 Eoch macble weghs .55 9“5”“%3 :“f_

gl - = B Molees sense becaunse

L
’__32__0__ 12 15 doout \YD T 6O ik 18 D

~82e

(2] . " s
Cameron wants to measure the length of his classroom using his foot as a length unit. His teacher tells
him the length of the classroom is 23 meters. Cameron steps across the classroom heel to toe and finds

that it takes him 92 steps How long is Cameron’s foot in meters?

12133 OD Cameron s fok 18 0.25m long -

-1%9
L\ (6]
©
5. A blue rope is three times as long as a red rope. A green rope is 5 times as long as the blue rope. [f the
total length of the three ropes is 508.25 meters, what is the length of the blue rope? - | A
- ) \q i‘bD% o] V] 3
\1% g0, &5
- \

et L | A3

EEEEN R REIEE q5
Green J - L : ; -Q5
= 5OB « A ' R
punuy Jilee" 15

_3unys = 80.a5 “\@,\efs \m\ﬂ
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Name

Date

1. Divide. Check your work with multiplication.

a. 56+16 b. 21+14 c. 24+48 g
-35 o3 {-".') \-6 Ol l—\%
WTFLD rae  MTEDT 214 Bk -+ .
-AEY e gy 0o - &5 a0
»—%’O 4350 10, 1S
—% 5:60 O a0
d. 36+24 e. 81+54 5 6 f. 15.6+15 0 ‘Oq
: lﬂ \t I 0
™ | s ‘
2141 36.0 54TRL. 6 *2H4 (5Tisic0 % \3
120 300 210 7150 ":o‘b +\0M0
g \2.% - M""%lg'— %\.0 "%O 5.60
-~ 0,
0
g. 54+15 h. 16.12+52 i. 2.8+16
- i v\ 178 0. 115
36 o - 10 s
\SY—W E ;5;9 61‘\(‘:‘1?— ‘f___?:‘.z-.- 1b12.200 'f:____j__ﬁ_"_,
A Bk e T b2 .-Holfl 550
52 41956 \ 2.0 , O
q{g AL - 52 *:;O T AL B “"ﬁl{%"g*
‘k O J % A-
. 5.4 O - %06
(&

2. 30.48 kg of beef was placed into 24 packages of equal weight. What is the weight of one package of

beef?
|, 27
24730.4%
-4 ¥
bd
bk 3.

1b$
Vo ¥
©
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3. What is the length of a rectangle whose width is 17 inches and whose area is 582.25 in®?

v 117 T382.25
{ = | “ 511; l The \ex\g-%\\ o) Yhe
1] I 5‘5:2.153%:n ~toR mcs‘.cmg\e, W& 3425
. Ty B : .
= l;._’ ¢ \{\C\\eﬂ) .

35

- g5

-0

4. A soccer coach spent $162 dollars on 24 pairs of socks for his players. How much did five pairs of socks
cost?

Q: 15 L TR i, Pcﬁfs 6% socks

Uol O(D S . y
— o O P
\%D
\b%
O
O
O

5. A craft club makes 95 identical paperweights to sell. They collect $230.85 from selling all the
paperweights. If the profit the club collects on each paperweight is two times as much as the cost to
make each one, what does it cost the club to make each paperweight?

"“\-—/\_‘___ﬁ - .
'ﬁ, Q5123035 3Yz2.43
| | 2G04 AT
\ 2 2%* Qg5 L\O% 03
=380 ;%_
?f{}g’l’\'L_l_*J 2 L‘5 - 3:%5

o ™ T
ek [T TX cosks Me club gld ‘o moaxe

2{‘\&2::3“:: g\tjs? coen paPerw agnk .
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Name Date

1. Ava is saving for a new computer that costs $1,218. She has already saved half of the money. Ava earns
$14.00 per hour. How many hours must Ava work in order to save the rest of the money?

\;?—-\3 L\3 5
e W \47,04.0
] -5a»
—_—
saved  WAtw i -L\L
Qs . : “10
Lt
y2AB-v Z = 609 ©

o9 =% P

A\la nee ds A Work UD.5 wmete NWOourls .,

2. Michael has a collection of 1,404 sports cards. He hopes to sell the collection in packs of 36 cards, and
make $633.75 when all the packs are sold. If each pack is priced the same, how much should Michael

charge per pack?
o s 25
/”_"“““*“h““—“*ﬂf“"“ﬂx %bhqoﬂ 29YC23.1S

] o+ 5 How many 3bs ¢ -[ —~\0% -39 |
BECY I T Y
— = 220,

Mo =36 =39 -1

(33,15 — 39: (6:A5 T

-\145
i (8
M;c\\ae,\ 5\\5\,\,\6 c\\orge ﬁ>|lo.as,
COMMON |l ot " engage™  zus
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3. Jim Nasium is building a tree house for his two daughters. He cuts 12 pieces of wood from a board that is
128 inches long. He cuts 5 pieces that measure 15.75 inches each, and 7 pieces evenly cut from what is
left. Jim calculates that, due to the width of his cutting blade, he will lose a total of 2 inches of wood after

making all of the cuts. What is the length of each of the seven pieces?

. 5
12 3\n 15718 T 41,25
T i A X 5 _3_’_41
T E gfl
\5‘.15-"\ Z ;{:\J
: 1266.00 35
\ — %.15 ol
128-2.= Vi Tﬁ——l—?_
913 v S =575 l
Vib= 1%.15= 41.25 Each o} Yhe T preces 19

G12LS +7= .75 (as 1S irehed \Or\g :
4. A load of bricks is twice as heavy as a load of sticks. The total weight of 4 loads of bricks and 4 loads of
sticks is 771 kilograms. What is the total weight of 1 load of bricks and 3 loads of sticks?

bricks J E ¢ . _ _j}__
\ 170 51
- 43
.5 o\
SYeks ] l -8 Y
R L0
K - b0
) ()]
V2 oy s = 1771 caq,zss
. = - . " o

5 ULY\\\'S = 31\ '25

The wergny od \ brick \ood and >
SYide \oads s 3Z1.25 Kg-
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Name Date

Solve.

1. Lamar has 1,354.5 kilograms of potatoes to deliver equally to 18 stores. 12 of the stores are in the Bronx.
How many kilograms of potatoes will be delivered to stores in the Bronx?

.. - 15. 35 @
1511 554.56 15.25

Po)f“‘lwf 5> o | —ilht g e
. \ ey et 4 —
A . e I -gol |50 50

|12 Stores ¢ > 15250
\Boms= V\\354. 5 q0

Lusik = 1625 -
\‘2Zomds = 90D

q03 \(cj ot oodotpes will be delivered 1o ¥e Bronx.

2. Valerie uses 12 fluid oz of detergent each week for her laundry. If there are 75 fluid oz of detergent in the
bottle, in how many weeks will she need to buy a new bottle of detergent? Explain how you know.

g e

\io\ej\e} will need o \)\Aj Q Y\.e_NJ )
buiNe o dedergent al e )
bweels, She will have
o Wi e \eSYover afYer

b weeks, Pw¥ Mo enowng h
4o AD 2\ \CL\.’\T\('I,\{'S N Yhe '—,‘H\U}CEK*

COMMON Lesson 29: Solve division word problems involving multi-division with group size
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3. The area of a rectangle is 56.96 m?. If the length is 16 m, what is its perimeter?

7 [ m | b :'3?___—5((: E : 52%’
P=7 | #‘jﬂ Tl %
- %0
P- (356 x2)+(ic x2) T ac
- Taz + 32 = b
. 29.12

The perimetec o the recrangle
1S 39.\2 meters .

4. Acity block is 3 times as long as it is wide. If the distance around the block is 0.48 kilometers, what is the
area of the block in square meters?

\ g\de

legn || [ [
| svde 4%0

aam L |

Buns = ‘\.%D
\vnat = O

A b
A= \80 % LO LR
« MR % (00O /r\-\’\e’ O € O O,Q, ‘\*\'\Q.- \'D\O(LF
= 0% %106 6 1O, 300 squose mneters .

> 10, 0O

e e R & Dl o PRAT R Ll

TR I S e e

COMMON | Lesson 29: Solve division word problems involving multi-division with group size
CORE

unknown and the number of groups unknown.

ny
Date: 7/29/14 engage 2.H.20

S| 1 his work is licensed under a
® 2014 Common Core, Inc. Some rights reserved. commoncare.org @- BY:NG:SA Creative Co ns Attributio




NYS cdiw'MON CORE:'_M.&TH_EMAITICS CURRICULUM 4 Mid-Module Aﬁse‘ssmeﬁt' Task:' m

Name C"\Q[’Iie. . Date

1. Fill in the chart.

Words Expression The Value of the Expression
a. 50times the sum of 64 and 36
Sox (64+34) 5,000
b. Divide the difference between
1,200 and 700 by 5 ( 1,200 _.7'0 0) .L\. 5 100
c. The sum of 3 fifteens and 17
fifteens (3,”5) -!-(,'{X'S) | 300
d. 15timesthe sum of 14 and 6
5 X(++6) 300
e. 10 _Hm‘ .H‘esum 0? 10 x (250 + 45)
250 and 45 2,450
f: “{-'HNS'H'ﬁSW“ O'F (560 + 440) x 14
550 and 4lto Ien0

2. Compare the two expressions using <, >, or =. For each, explain how you can determine the answer
without calculating.

a. 100x8 25 % (4 X 9)

The praduct \-'m?pmducf of 4his part 1s 100, S0 (00X 9 Ts e Qual 0900,
here is 8po.

b. 48x12 50 twelves — 3 twelves
This s This is 47 Awelves

gtwelves. The other Side is L mre goup of fwelve

18 twenty-fours, doubled

@ Double 12 is 36, So s 36 fedty-fows on
both Sides.
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NYS COMMON CORE MATHEMATICS CURRICULUM  Mlid-Module Assessment Task m

3. Sobve, Use words, numbers of plctutes 1o explain how your anspwers 1o parts (a) and {b) are related.
s 25x30s_T150 b 252M=_25 wehax30s=_150ents = 75,0
The digits are. exoetly Hhe some. But dhe units in (b)
are. smaller 8o tht onswer (% sealler. Ones are 10 fimes
as \mﬁz. s ‘h:.n“hs 30 the answier o (_a) 1S tenfimes

\oropr Hron (k)
* & Multiply using tha standand sigorithm, Show your work below padch problem. Write the product In tha
Blank.
s sienaze 1062 b S4s=ats= 220,130
514 540
X 55 %405
G ST SIS 3
}§42 *%130
+154920 +218400
Hofl(oz '22_|-)130
5. Fora feld trip, the school bought 47 sandwiches for $4.60 each 3ad 39 Bags of chips for $1.25 each. How
mwch did the school spend In ali?
40O cots | 25 conts
X
it O 21620 “Thescnood seenf
“ 2 1125 ¥ 48,75 $26495 inall
113998 — 13790 §20%4 5 e

21,620ans 45T Berts

COMMON Module 2: Multi-Digit Whole Number and Decimal Fraction Operations ny
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NYS COMMON CORE MATHEMATICS CURRICULUM Mid-Module Assessment Task m

6. Jeanne makes hair bows to sell at the craft fair. Each bow requires 1.5 yards of ribbon.

a. Atthe fabric store, ribbon is sold by the foot. If Jeanne wants to make 84 bows, how many feet of
ribbon must she buy? Show all your work.

.5y =15 % (L) 45 tenths
X Sk
=L.EX{3 H’) "Té‘B— Jeanne ]1(1; 4o buy
=h.sH +3800 378 feet oF ibbon.
37%.0

b. If the ribbon costs 10¢ per foot, what is the total cost of the ribbon in dollars? Explain your reasoning,
including how you decided where to place the decimal.

378% lod =380 ¢ = 437.80 |

when T mytiphied by 10, all the Jigits got 10 Fres lorger
and movad one place o the left. That was 3,780 cents.
To hind dollars, = dwided by 100 which moved my digite
back, 2 plaes Jo the left, So my decima) PoinT went
between the 7 and &,

c. A manufacturer is making 1,000 times as many bows as Jeanne to sell in stores nationwide, Write an
expression using exponents to show how many yards of ribbon the manufacturer will need. Do not
calculate the total.

g4 X 10°X |.5

COMMON Module 2: Multi-Digit Whole Number and Decimal Fraction Operations
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1. Express the missing divisor using an exponent. Explain your reasoning using a place value chart,

2 3
a. 52+ 10 =0052 b. 7,650+ |0O =765

2. Estimate the quotient by rounding the equation to relate to a 1-digit fact. Explain your thinking in the

space below.
a. a2:73~_(p b 1275+588~ 2
R 12005 LOO =125 G = 2
713 is cleSe Yo T +ens. The .
nearest multiple of T Hhat's Wike 588 s clese 1o €00- The nearest multiple
U232 i5 W2 dens, So 425 7= 6 of Wt is clese 4o 1275 is 12 hundreds .
. ‘ So 124 6=2.

3, Generate and solve another division problem with the same quotient and remainder as the two problems
below. Explain your strategy for creating the new problem,

3
1 7]6 3 4 21 3 : a—ﬂ q3
s 1 1 2 8 - 3\
1 2 1 2 -"'i_'
To check. division, T can mulhpdj 2'13
answer and the dw:sor Hen od S
remainder, So T mubtiplied 3 X mynumber +gl ;

Which wag 27 and 3o+ 8) and then T added T
\2, Se my Avidend must be 93,
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4, Sarah says that 26 = 8 equals 14 = 4 because both are “3 R2.” Show her mistake using decimal division.

2.5 2.5
®)26.00 Y 112.'0 26 ~ 8= 325

-4 .
20 AO 14 5 Y= B.S
4o
-Yo O
o e i
O

5. Arectangular playground has an area of 3,392 square meters. If the width of the rectangle is 32 meters,
find the length. ?

- 100b
A= 3)392“\-‘7 3% 3392

:3'2. _n‘n?_ \Qﬂé“fe\

13 o e
19 2 Te,c')[ahé\e.
ol 5 1. o 106 Mewss.

32m

22Ax {= 33

6. A baker uses 5.5 pounds of flour daily.

a. How many ounces of flour will he use in two weeks? Use words, numbers, or pictures to explain your

thinking. {1 1b = 16 oz.)
3B o, Fiest, \ found e

55 b= o2 ® 14 Om(_g_s. e us_.a_s
55 x (k)7 —o= +%%é
55 x (o))" o2 12,32 0w \mqﬁx;iéd

T i " 14 davs .

4@?3 T(ac_ baker uwses 1,222 02

'—g@_%-u-\’& ©C Llour in 2. wuz,Ks.

Date: 7/29/14
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b. The baker’s recipe for a loaf of bread calls for 12 ounces of flour. If he uses all of his flour to make
loaves of bread, how many full loaves can he bake in two weeks?

)
12) 1,232 The baker can bake.

- |

©3 102 Lul\ lpoves in

o two weeks.
X

c. The baker sends all hisEread to one store. If he can pack up to 15 loaves of bread in a box for

shipping, what is the minimum number of boxes required to ship all the loaves baked in two weeks.
Explain your reasoning.

15) 102 He vieeds 7 boxes o S\v\lP

—_—r A\ e oreod . The last box
won't be Lol 4+ il On\y
hove 2. \loaves 1a 1t

d. The baker pays $0.80 per pound for sugar and $1.25 per pound for butter. Write an expression that
shows how much the baker will spend if he buys 6 pounds of butter and 20 pounds of sugar.

(e x #1.25) x (20 % $0.80)

e. Chocolate sprinkles cost as much per pound as sugar. Find Ilathe baker’s total cost for 100 pounds of

chocolate sprinkles. Explain the number of zeros and the placement of the decimal in your answer
using a place value chart.

$0.20 o = ¥p o8 The boker pays
$ 800 Loc |oolbs
ol 5Pr'm\<\es.-

COMMON Module 2: Multi-Digit Whole Number and Decimal Fraction Operations

e engage™’

This work is licensed under a

© 2014 Common Core, Inc. Some rights reserved. commoncore.org Creative mons Attribution-NonCommercial-ShareAlike 3.0 Unported License,

2.5.18




